# How Do The Oil Prices Affect The Macroeconomic Fundamentals, Monetary Policy and Stock Market? : The Case of The MENA Countries

Ahmed Smahi<sup>1</sup>, Kamel Si Mohamed<sup>2</sup>

<sup>1</sup>(Associate Professor, Department of Economics, University of Tlemcen, Algeria) <sup>2</sup>(Associate Professor, Department of Economics University of Ain Témouchent, Algeria) Corresponding Author: Ahmed Smahi

**Abstract:** The main objective of this study is to investigate the impact of oil prices on macroeconomic fundamentals, monetary policy and stock market for eight oil-exporting and non-oil exports countries in the Middle East and North African region, namely Algeria, Egypt, Iran, Kuwait, Morocco, Saudi Arabia, Tunisia and Turkey. Using quarterly data for the period 1994Q4-2015Q2, with a Panel-ARDL, we may conclude that there are short run dynamic cross-section relationships between first, oil prices and macroeconomic variables such as growth rate and consumer price index, second, oil prices and money market rate and third, market capitalization and oil prices.

In the long run, dependent variables such as consumer price index and market stock exhibit a cointegration relationship with oil prices. However, no cointegration relationships can be established among oil price variations, monetary policy and growth rate. In this context, we apply a multivariate VAR model to examine responses of all variables to oil price shocks. We find a relatively 100% elastic response of economic growth in oil-exporting country except for Kuwait and conversely, oil-importing economics, it appears reasonably stable close to zero of GDP response to oil prices.

Similarly, same results can be captured of market response estimated an each oil-importing countries and oilexporting countries to oil price, which is considered a negatively sign during the first period in these countries causes by financial crisis contagion.

The next macroeconomic variable, CPI seems positive response to oil .In addition, oil prices appear to have a negligible response on money market rates in the Middle East and North Africa except for turkey and Egypt **Keywords:** Economic growth, Oil shocks, Monetary policy, PANEL-ARDL, Stock market

\_\_\_\_\_

Date of Submission: 22-08-2018

Date of acceptance: 04-09-2018

\_\_\_\_\_

# I. Introduction

The oil price is the most attractive index in the financial market. As the world economy is highly vulnerable to oil price fluctuations, since 2002, the price of a barrel of oil has increased fourfold, moving from \$26 in 2002 to \$107 in 2012. The prices dropped from about \$90 in June 2014 to less than \$50 a barrel in august 2015. It is now below 46 dollar. In this context, the market worries about crude oil future, especially *is* worries resurfaced many new signs as China's economy slowdown, increase offer, minted quotas by The Organization of the Petroleum Exporting Countries

In contrast, oil prices appear to have a positive impact on the economies of oil-countries and negative effect on oil-importing economies. So that when the US dollar raised, the current account balance, government revenue and GDP increase in first group. Conversely, when the oil price increased, the cost of production leads directly CPI to push up and indirectly money market rates are rising as well as current account imbalance. This situation, in turn is lagging oil-importing economy's growth. Moreover, financial markets have declined while the oil prices are lowered in oil-exporting and continued to increase in non-oil exports countries.

In our analysis, we shall investigate the impact of oil prices on macroeconomic fundamentals, monetary policy and stock market for eight Middle East and North African countries.

The rest of the paper is organized as follows. In section 2 we present a literature review on the effect. Section 3 presents the model and the methodology, followed by the results and discussion in Section 4, and finally, section 5 presents the main conclusion.

# II. Literature review

The price of oil plays a strategic role in the global economy. Many studies have highlighted its different impacts on macroeconomic variables such as GDP growth, unemployment rates, inflation, the stock market, etc.

(See: Rasche and Tatom (1977), Darby (1982), Hamilton (1983, 1996, 2003), Lee et al. (1995), Rotemberg and Woodford (1996), Eltony and Al-Awadi (2001), Brown and Yücel (2002, 2010), Blanchard and Gali (2007), Bjørland (2008), Wang, Wu, and Yang (2013), Basher, Haug, and Sadorsky (2012), Benhabib et al (2014, 2015)).

Pradhan et al (2015) pointed out in their study a robust long-run economic relationship economic growth, oil prices, depth in the stock market, and three other key macroeconomic indicators: real effective exchange rate, inflation rate, and real rate of interest using a panel vector autoregressive model for the G-20 countries over the period 1961–2012.

Katircioglu et al (2015) used panel cointegration for testing the relationship between oil price movements and macroeconomic aggregates, such as gross domestic product (GDP), consumer prices (CPI), and unemployment, for twenty-six OECD countries between 1980 and 2011. They results confirmed that there is a long-term relationship between oil prices and those macroeconomic aggregates

George Filis (2010) examined the relationship among consumer price index, industrial production, and stock market and oil prices in Greece during the period from 1996 M1 to 2008 M6. He found a positive effect of oil prices and the stock market on the Greek CPI, in the long run while oil prices exercise significant negative influence to the stock market and response negatively to CPI.

Korhonen et al. (2007) estimated the real exchange rate in OPEC countries from 1975 to 2005 and three oil-producing Commonwealth Independent States (CIS) from1993 to 2005 using panel co-integration methods. Their results show that real oil price has a direct effect on the equilibrium exchange rate in oil-producing countries. Nikbakht (2009) studied the long run relationship between real oil prices and real exchange rates from 2000 to 2007 by using monthly panel of seven OPEC countries (Algeria, Indonesia, Iran, Kuwait, Nigeria, Saudi Arabia, and Venezuela). His results show that there is a long-run and positive linkage between real oil prices and real exchange rates in OPEC countries.

In Morocco, Lahrech et al (2014) examined the association between oil price shocks and the MASI index (Moroccan All Shares Index). A based a Dynamic Conditional Correlation Multivariate GARCH, they concluded the existence of significant correlation between oil, MASI index and the Moroccan economic sectors.

Necibi (2013) analyzed the impact of oil prices in Tunisia economic activity. His established relationship between oil price variation and macroeconomics variables, when oil price rose, the production cost was pushed up, meaning consumer price index pushed up and output pushed down using quarterly and monthly data from the period going from 2000 to 2011.

In similarly study and over the turkey data between January 1988 and March 2011, Çatık and Önder (2013) detected the nonlinear relationship between oil prices and macroeconomic activity based on a multivariate two-regime threshold VAR (TVAR) model.

Akoum et al (2012) finds the evidence oil and stock returns co-move over the long term for the six Gulf Cooperation Council (GCC) countries (Bahrain, Kuwait, Oman, Qatar, Saudi Arabia, and the United Arab Emirates) utilising a wavelet analysis.

Farzanegan and Markwardt (2009) investigated the effects of oil price shocks on the Iranian economy by applying a VAR approach. They observed a strong positive relationship between positive oil price changes and industrial output growth. On the contrary, the impact of oil prices has negligible effect on real government expenditures and appreciate real effective exchange rate.

Eltony (2001) used VAR (p) for quarterly data were for the period 1984 Q1 – 1998 Q4 and found causality between major macroeconomic variables in Kuwait (oil prices and oil revenues, and government development and current expenditure).

# III. The Econometric Approach

## Data source

The sample comprises 83 quarterly observations for the period 1994Q4 - 2015Q2. The sources of our variables are collected from different issues of International financial Statistics and world development indicators.

## Definition of the model

The ARDL model is used to analyze cointegration series for short and long-run dynamics, even when the time-series are stationary I(0) or integrated of order I(1). The variables ma include a mixture of stationary and non-stationary time-series for ARDL Bounds testing approach proposed by Pesaran (1997), Pesaran, Smith and Shin (2001) and Pesaran et al. (2001). In addition, the bounds testing procedure (Pesaran et al., 2001) proposed in this study are robust for small sample (Abd Pattichis, 1999; Mah, 2000; and Tang and Nair, 2002, Halim et al 2008, Si Mohammed et benhabaib (2015)). In this context, we use panel ARDL cointegration tests for cross-section data from eight oil-exporting and non-oil exports countries in the Middle East and North African region, namely Algeria, Egypt, Iran, Kuwait, Morocco, Saudi Arabia, Tunisia and Turkey.

Our variables are oil prices and macroeconomic variables such as growth rate and consumer price index change, money market rate as monetary policy repentant and market capitalization.

## **IV. Results and discussions**

#### **Stationary test results**

Before presenting the results from the empirical panel ARDL, we will apply the stationary test of the time series data. We have chosen the cross-sectionally augmented panel unit root test of Levin, Lin and Chu (2002), Im, Pesaran and Shin (2003) and Fisher-type tests using ADF.

						<u> </u>	
Variable	Levin, Lin		Im, Pesaran and Shin		ADF - Fisher		
	& Chu t*	Probability	W-stat	Probability	Chi-square	Probability	
GDP	-1.77853	0.0377	-2.78145	0.0027	37.7037	0.0017	I(0)
Oil	-0.68411	0.2470	0.53659	0.7042	7.95123	0.9503	I(1)
Ι	-3.32729	0.0004	-1.84120	0.0328	23.5717	0.0404	I(0)
Mrk	-1.47662	0.0699	-0.61151	0.2704	19.3304	0.2519	I(1)
CPI	-3.46934	0.0003	-3.34414	0.0004	43.5671	0.0002	I(0)

Table 1 The result of Unit Root Test at Level or I (0) (Null: Unit Root Test): With Intercept and Trend

Table 01 presents the result of unit root test at level. We reject the null hypothesis and accepts the alternative hypothesis for two variables (oil, Market capitalization) when the p-value is more than 0.05 (5%) and even 0.1 (10). P-value of oil variable are respectively 0.247, 0.7 and 0.95 respectively for three tests of Levin, Lin and Chu (2002), Im, Pesaran and Shin (2003) and Fisher-type tests using ADF. Therefore, the p-value of market capitalization is more than the 5% critical value (0.06, 0.27 and 0.25).

CPI change, GDP and interest rate variables, though they are stationary at levels (I (0)). The test statistic is less than the 5% critical value that we cannot be rejected the null hypothesis. Indeed, we observed p-value of GDP is 3%, 0.2% and 0.1%, where the critical value of interest rate is less than 0.04%, 3% and 4%. Finally, p-value of CPI is significant at 5% then they three probability are 0.03%, 0.04% and 0.02%.

	result of e life	1000110000		(r tunit e mit r	1000 I 050). 11 III	i interespe an	
Variable	Levin, Lin &		Im, Pesaran and Shin		ADF - Fisher		
	Chu t*	Probability	W-stat	Probability	Chi-square	Probability	
GDP	-2.61131	0.0045	-5.47554	0.0000			I(0)
Oil	-22.7033	0.0000	-20.1954	0.0000	268.732	0.0000	I(1)
Ι	-20.1422	0.0000	-19.1702	0.0000	231.507	0.0000	I(0)
Mrk	-10.0700	0.0000	-11.4630	0.0000	154.633	0.0000	I(1)
CPI	-7.54668	0.0000	-17.6019	0.0000	207.286	0.0000	I(0)

Table 2 The result of Unit Root Test at 1st different or I (1) (Null: Unit Root Test): with Intercept and Trend

Table 2 shows the result of unit root test at 1st different. All results confirm integrated oil and markets variables of order one (I (1)) on the contrary, the series of CPI, interest rate and GDP are no unit roots, then we conclude these variables are stationary at levels (I (0)).

#### **Cointegration tests**

In order to explain the relationship between oil prices and the MENA economies (**Table03**), the Panel-ARDL model is used to analyze cointegration series for short and long-run dynamics

In the long run, dependent variables such as consumer price index and market stock exhibit a cointegration relationship with oil prices. However, no cointegration relationships can be established among oil price variations, monetary policy and growth rate.

Variable	Coefficient	Std. Error	t-Statistic	Prob.*		
	A) Long R	un Equation				
OILP	-0.000462	0.000819	-0.563168	0.0035		
MRK	0.014846	0.002788	5.325305	0.0000		
Ι	0.010527	0.007621	1.381287	0.1677		
СРІ	-0.020791	0.005160	-4.029242	0.0001		
	B) Short R	un Equation				
COINTEQ01	-0.121092	0.063348	-1.911519	0.0464		

Table 03	pooled cointegrati	on test
----------	--------------------	---------

How Do The Oil Prices Affect The Macroeconomic Fundamentals, Monetary Policy and Stock Market? ....

D(GDP(-1))	1.753913	0.494250	3.548633	0.0004
D(GDP(-2))	-1.578388	0.514201	-3.069597	0.0022
D(GDP(-3))	0.530667	0.162131	3.273082	0.0011
D(OILP)	-0.000965	0.000930	-1.038513	0.2995
D(MRK)	0.002216	0.008338	0.265824	0.7905
D(I)	-0.017112	0.015435	-1.108638	0.2681
D(CPI)	-0.008527	0.004616	-1.847420	0.0652
С	0.116539	0.063998	1.820974	0.0691
Mean dependent var	0.003375	S.D. dependent var		0.459245
S.E. of regression	0.417403	Akaike info criterion		-7.225068
Sum squared resid	99.48249	Schwarz criterion		-6.699723
Log likelihood	2413.309	Hannan-Quinn criter.		-7.021257
		_	_	

\*Note: p-values and any subsequent tests do not account for model selection.

## Relationships between oil prices and MENA economics variables

Appendix 1 reports the relationships between oil prices and MENA economics variables in short run by country. The deviation from long-run equilibrium is corrected very slow adjustment speed about 12% every quarterly. The speed of adjustment is higher in the MENA oil-importing countries oil when the term spread are 30% for turkey and Egypt, 58 and 41% for morocco and Tunisia. On the contrary for oil-exporting countries, the speed of adjustment during same period estimated move to a targeted about 25% and less than first group speed adjustment. This result refers the small time elapsed by oil-exporting countries to correct their macroeconomics variables deviation from long-run equilibrium using the oil revenue.

In addition, we note the speed of adjustment required lower rate in Saudi Arabia and Kuwait compare the Algeria to move from the short-run to the long-run equilibrium relationship among Variables study. This result clarifies the comparative advantage of oil dependent between these countries and distinguishes between oil-rich countries and relatively non-oil-rich countries. furthermore, this relationship emphasizes how policymaker chooses their sector oil strategy to serve ever expanding public spending to stimulate growth economic, sterilization practice and intervention in the financial market, while Saudi Arabia and Kuwait produced 11 bbl/ day and 3 bbl/ day respectively compare 1.7 barrels of crude per day in Algeria.

Also, Oil price trend have associated a statistically significant as positive effect on Algeria, Iran, Kuwait and Saudi Arabic. However, Tunisia GDP is one regressor has not detected short run relationship with oil price which implies may be that change in oil price effects the real GDP of Tunisia negatively. Turkey Financial Market capitalization is related positively, but it's not statically significant for the period 1994Q4-2015Q2. Third, oil prices appear having a statistically association relationship with the CPI of oil-importing countries and oil-exporting countries in the MENA region, when oil price increases inflation also increase.

# The impact of oil Prices by individual country's economics

In this section, we analysis the impact of oil prices on macroeconomic fundamentals, monetary policy and stock market for eight Middle East and North Africa by individual country's economics. We use SVAR model developed by many empirical who investigated the effect of oil shocks on differ variables: see Blanchard et Quah (1989), Cushman et Zha (1997), Zha (1999), Maćkowiak (2007), Sato et alii (2009), Kilian (2009).

Figure 1 checks the impulse responses. The impulse responses present the dynamic responses of the exogenous variables in relation to the time of variation of the endogenous variable (See Doan (1992), Sims and Zha (1999)). It shows the responses of GDP in oil-exporting countries are a positive sign during all period, and conversely, oil-importing economics, it appears reasonably stable close to zero of GDP response to oil prices.

Similarly, same results can be captured of market response estimated an each oil-importing countries and oil-exporting countries to oil price, which is considered a negatively sign during the first period in these countries causes by financial crisis contagion.

The next macroeconomic variable, CPI seems positive response to oil change and provide the theoretical framework while oil increase lead inflation to rise except Arabic Saudi case. This puzzling result of Arabic Saudi can be explained by beg exchange rate regime adopted.

Indeed, Oil price have a mixed effect response on monetary policy. It is observed that shows a negative sign in long run for Iran, Algeria, morocco, Tunisia and turkey, so that moving in the same positively direction in Kuwait, Arabic Saudi, Egypt.

In fact, the rising oil prices lead to increase inflation and automatically monetary policy response by raising interest rate that can be explained the positively response. On other hand, the negative sign affect by decrease interest rate in the world of both developed countries and less developed especially during financial

crisis (transfer of monetary policy) except in the Algeria case while the impact of oil price has a negligible effect on money market rate. As such, oil revenue is sterilized by the central bank has week sign on interbank market, crowding monetary policy to including economy growth in their objectives and divergence between real economy and monetary policy.

Finally, the market worries about crude oil future, especially s worries resurfaced many new signs as China's economy slowdown, increase offer, minted quotas by The Organization of the Petroleum Exporting Countries. The persistence of lower oil price (The prices dropped from about \$100 in September 2014 to less than \$50 a barrel in august 2015, ) has been associated with an negative responses. Moreover, a one-standard deviation of oil price causes all explanatory variables to decrease about 0.02 to 2 a standard deviation over last period as interval of week or negative except GDP and CPI in non-oil countries (see Appendix 2)

## **Responses correlation**

Table 05 presents response correlation between oil prices and macroeconomic fundamentals, for eight Middle East and North African countries. The correlation coefficient between oil and GDP appear positive and present more ha 45 % for Algeria, Iran, Kuwait and Saudi Arabic. On the other hand, Morocco and Tunisia presents negative correlation with oil, but less than turkey. GDP and oil correlation in Egypt explain more than 0.5. Furthermore, CPI and oil variables suggest positive correlation in all countries except Morocco and Tunisia. Thirst variable (interest rate) is well correlated with the oil prices in both importing and exporting oil countries except Turkey, while was not well correlated and reflect the independence of monetary policy with oil prices. Finally, market capitalization was not well correlated with oil sector in Kuwait when which should be well correlated in the rest countries given differ sign between them.

-					
	GDP_IRN	CPI_IRN	I_IRN	MRK_IRN	OILP
OILP	0,47	0,28	-0,52	0,63	1
	GDP_KWT	CPI_KWT	I_KWT	MRK_KWT	OILP
OILP	0,51	0,08	-0,27	-0,03	1
	GDP_SA	CPI_SA	I_SA	MRK_SA	OILP
OILP	0,20	0,05	0,40	0,46	1
	GDP_TUN	CPI_TUN	I_TUN	MRK_TUN	OILP
OILP	-0,15	-0,08	-0,40	-0,11	1
	GDP_EGP	CPI_EGP	I_EGP	MRK_EGP	OILP
OILP	-0,56	0,47	0,42	0,40	1
	GDP_ALG	CPI_ALG	I_ALG	MRK_ALG	OILP
OILP	0,70	0,20	-0,15	0,32	1
	GDP_MAR	CPI_MAR	I_MAR	MRK_MAR	OILP
OILP	-0,09	-0,15	0,06	-0,39	1
	GDP_TUR	CPI_TUR	I_TUR	MRK_TUR	OILP
OILP	-0,17	0,31	-0,20	0,15	1

 Table 05:
 Response correlation among MENA variables.

# V. Conclusion

In the case of MENA region, the main conclusion is that their economies risk can be explained by fundamentals complemented with the oil price decline during the last year. Our results show that there are longrun relationships between oil and consumer price index and market stock. However, our estimation of a Panel-ARDL model indicates that necessary prerequisites to detersive their economies, especially in oil exporters. Foreign exchange reserves of oil exporting countries have not enough to be facing an oil price shock in the long run.

# References

- Abdelmounaim Lahrech, Assya Chraibi and Sami, Abdelwahab. (2012). The Impact of Oil Price Shocks on the Moroccan Financial Market: Composite and Sectorial Level Proceedings of 9th International Business and Social Science Research Conference 6 - 8 January, Novotel World Trade Centre, Dubai, UAE, ISBN: 978-1-922069-41-2
- [2] Balke, N. S., Brown, S. P., & Yücel, M. K. (2010). Oil Price Shocks and US Economic Activity. Resources of The Future, 10-37
- [3] Basher, S. A., Haug, A. A., & Sadorsky, P. (2012). Oil prices, exchange rates and emerging stock markets. Energy Economics, 34(1), 227-240.

- [4] Benhabib Abderazzak, et al, (2014). The relationship between oil price and the Algerian exchange rate Topics in Middle Eastern and African EconomiesVol. 16, No. 1, May 2014
- [5] Bjørnland, H. C. (2008), "Oil Price Shocks and Stock Market Booms in an Oil Exporting Country." Working Paper from Norges Bank # 16.
- [6] Blanchard, O. J. and J. Gali (2007). "The Macroeconomic Effects of Oil Price Shocks: Why are the 2000s so Different from 1970s?" MIT Department of Economics Working Paper No. 07-21.
- [7] Brown, S. and Yücel, M. K. (2002). "Energy Prices and Aggregate Economic Activity: An Interpretative Survey." The Quarterly Review of Economics and Finance, 42(2), 193-208.
- [8] Cushman, D. O. et Zha, T. A., (1997). « Identifying Monetary Policy in a Small Open Economy Under Flexible Exchange Rates », Journal of Monetary Economics, vol. 39 (3), pp. 433-48.
- [9] Darby, M. R. (1982). "The Price of Oil and World Inflation and Recessions." American Economic Review, Vol. 72, 738-751.
- [10] Dickey, D.A and W.A.Fuller (1979), Distribution of estimators of Autoregressive Time series with a Unit Root, Journal of the American Statistical Association, 74,427-31.
- [11] Dickey, D.A and W.A.Fuller (1981), Likelihood Ratio Test for Autoregressive Time Series with a Unit Root, Econometrica, 49,1057
- [12] Eltony, M. N. and Al-Awadi, M., (2001). "Oil price Fluctuations and their Impact on the Macroeconomic Variables of Kuwait: A Case Study Using a VAR Model." International Journal of Energy Research Vol. 25, No. 11, 939-959.
- [13] George Filis (2010) Macro economy, stock market and oil prices: Do meaningful relationships exist among their cyclical fluctuations? Energy Economics 32 (2010) 877–886
- [14] Hamilton, J. D. (1983): "Oil and the Macroeconomy since World War II." The Journal of Political Economy Vol. 91, 228-248.
- [15] Hamilton, J. D. (1996): "This is What Happened to the Oil Price-Macroeconomy Relationship." Journal of Monetary Economics, Vol. 38, 215-220.
- [16] Hamilton, J. D. (2003): "What is an Oil Shock?" Journal of Econometrics, Vol. 133, 363-398.
- [17] Korhonen, I., Juurikkala, T., and Pankki, S., (2007). "Equilibrium Exchange Rates in Oil Dependent Countries." WORKSHOPS NO. 12/2007, Vienna, 393-407.
- [18] Lee, K., Ni, S. and Ratti, R. (1995). "Oil Shocks and the Macroeconomy: the Role of Price Variability." Energy Journal Vol. 16: 39-56.
- [19] Leili Nikbakht, (2009). Oil Prices and Exchange Rates: The Case of OPEC, Business Intelligence Journal, 83-93.
- [20] Maćkowiak, B., 2007, « External shocks, U.S. monetary policy and macroeconomic fluctuations in emerging markets », Journal of Monetary Economics, vol. 54 (), pp. 2512-2520.
- [21] Mah, J. S.(2000). An Empirical Examination of the Disaggregated Import Demand of Korea The case of Information Technology Product. Journal of Asian Economic, 11, 237- 244.
- [22] Mohammad Reza Farzanegan, Gunther Markwardt (2009) the effects of oil price shock on the Iranian economy Energy Economics 31 (2009) 134–151.
- [23] Nazif Çatık, A. Özlem Önder An asymmetric analysis of the relationship between oil prices and output: The case of Turkey Economic Modelling 33 (2013) 884–892
- [24] Pattichis, C.A (1999).Price and income elasticities of disaggregated import demand: results from UECMs and application. Journal of Applied Econometrics.31, 1061-1071.
- [25] Pedroni P. Critical values for cointegration tests in heterogeneous panels with multiple regressors. Oxf Bull Econ Stat, Department of Economics, University of Oxford, vol. 61(0), pages 653–70, Special I.
- [26] Pedroni P. Panel cointegration: asymptotic and finite sample properties of pooled time series tests with an application to the PPP hypothesis. Econ Theory 2004;20:597–625.
- [27] Pesaran MH, Ullah A, Yamagata T. A bias-adjusted LM test of error cross section independence. Econom J 2008;11:105–27.
- [28] Pesaran MH, Yamagata T. Testing slope homogeneity in large panels. J Econ 2008;142:50-93.
- [29] Pesaran MH. 2004. General diagnostic tests for cross section dependence in panels. Cambridge Working Papers in Economics. p. 435.
- [30] Pesaran MH. A simple panel unit root test in the presence of cross section dependence. J Appl Econ 2006;22:265–312.
- [31] Pesaran MH. Estimation and inference in large heterogeneous panels with a multifactor error structure. Econometrica 2006;74:967–1012.
- [32] Phillips, P.C.B. & Perron, P. (1988), testing for unit root in time series regression. Biometrica, 75, 335-346.
- [33] Rasche, R. H. and Tatom, J. A. (1977). "The Effects of the New Energy Regime on Economic. Capacity, Production and Prices." Federal Reserve Bank of St. Louis Review Vol. 59 No. 4. 2-12.
- [34] Rudra P. Pradhan, Mak B. Arvin, Atanu Ghoshray (2015), The dynamics of economic growth, oil prices, stock market depth, and other macroeconomic variables: Evidence from the G-20 countries International Review of Financial Analysis 39 (2015) 84–95.
- [35] Salih Turan Katircioglu, Kamil Sertoglu, Mehmet Candemir, Mehmet Mercan Oil price movements and macroeconomic performance: Evidence from twenty-six OECD countries Renewable and Sustainable Energy Reviews 44 (2015) 257–270.
- [36] Sato, K, Zhang, Z.Y, etMcAleer, M., 2009, "Identifying Shocks in Regionally Integrated East Asian Economies with Structural VAR and Block Exogeneity", CIRJE Discussion Papers 694, University of Tokyo.
- [37] Sims, C. A. and Zha T. (1999). "Error Bands for Impulse Responses." Econometrica. Vol. 67, 1113-1155.
- [38] Tang, T. C., & Nair, M. (2002). A Cointegration Analysis of Malaysian Import Demand Function: Reassessment from the Bound Test. Applied Economics Letter, 9, 293-296.
- [39] Thameur Necibi (2014), The impact of oil prices on economic activity in administrated price structure: the case of Tunisia Online at http://mpra.ub.uni-muenchen.de/55066/ MPRA Paper No. 55066, posted 5. April 2014 19:01 UTC
- [40] Wang, Y., Wu, C., & Yang, L. (2013). Oil price shocks and stock market activities: Evidence from oil importing and oil-exporting countries. Journal of Comparative Economics, 41(4), 1220-1239.

		201						
Variable	Coefficient	Std. Error	t-Statistic	Prob. *				
COINTEQ01	-0.308161	0.011231	-27.43759	0.0001				
D(Y(-1))	-0.176413	0.014102	-12.50988	0.0011				
D(OILP)	-0.005163	1.75E-05	-295.7704	0.0000				
D(MRK)	0.015117	0.000148	101,9408	0.0000				
D(CPI)	-0.134245	0.009872	-13.59912	0.0009				
C	0.348764	0.022542	15.47149	0.0006				
		IRN						
Variable	Coefficient	Std. Error	t-Statistic	Prob. *				
COINTEQ01	-0.229867	0.005430	-42.33060	0.0000				
D(Y(-1))	0.038339	0.011764	3.259078	0.0472				
D(OILP)	0.005969	2.74E-05	218.2222	0.0000				
D(MRK)	0.077726	0.001958	39.70287	0.0000				
D(CPI)	-0.016309	0.000203	-80.30038	0.0000				
С	0.254878	0.012826	19.87215	0.0003				
	]	KWT						
Variable	Coefficient	Std. Error	t-Statistic	Prob. *				
			· Statistic	11001				
COINTEQ01	-0.192203	0.004364	-44.04171	0.0000				
D(Y(-1))	0.097726	0.011659	8.382048	0.0036				
D(OILP)	-0.006557	7.30E-05	-89.81905	0.0000				
D(MRK)	-0.020169	0.001001	-20.15669	0.0003				
D(CPI)	-0.017377	0.005992	-2.899974	0.0625				
С	0.201818	0.012647	15.95737	0.0005				
	_MAR							
Variable	Coefficient	Std. Error	t-Statistic	Prob. *				
COINTEQ01	-0.580376	0.008832	-65.71439	0.0000				
D(Y(-1))	0.337381	0.010594	31.84675	0.0001				
D(OILP)	-0.008138	9.84E-05	-82.72028	0.0000				
D(MRK)	0.000005		-35.32036	0.0000				
	-0.028025	0.000793						
D(CPI)	-0.028025 0.084737	0.000793 0.008216	10.31334	0.0019				
D(CPI) C	-0.028025 0.084737 0.588979	0.000793 0.008216 0.032172	10.31334 18.30743	0.0019 0.0004				
D(CPI) C	-0.028025 0.084737 0.588979	0.000793 0.008216 0.032172 _SA	10.31334 18.30743	0.0019 0.0004				
D(CPI) C Variable	-0.028025 0.084737 0.588979 Coefficient	0.000793 0.008216 0.032172 SA Std. Error	10.31334 18.30743 t-Statistic	0.0019 0.0004 Prob. *				
D(CPI) C Variable COINTEQ01	-0.028025 0.084737 0.588979 Coefficient	0.000793 0.008216 0.032172 _SA Std. Error 0.004826	10.31334 18.30743 t-Statistic -41.08816	0.0019 0.0004 Prob. * 0.0000				
D(CPI) C Variable COINTEQ01 D(Y(-1))	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680	0.000793 0.008216 0.032172 _SA Std. Error 0.004826 0.012132	10.31334 18.30743 t-Statistic -41.08816 0.633056	0.0019 0.0004 Prob. * 0.0000 0.5717				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP)	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459	0.000793 0.008216 0.032172 SA Std. Error 0.004826 0.012132 3.31E-05	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK)	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459 0.009244	0.000793 0.008216 0.032172 SA Std. Error 0.004826 0.012132 3.31E-05 0.001153	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI)	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459 0.009244 -0.022157	0.000793 0.008216 0.032172 Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0139				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI) C	-0.028025 0.084737 0.588979 	0.000793 0.008216 0.032172 _SA Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273 0.008623	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943 26.57735	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0139 0.0001				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI) C	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459 0.009244 -0.022157 0.229185	0.000793 0.008216 0.032172 SA Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273 0.008623 TUN	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943 26.57735	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0040 0.0139 0.0001				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI) C Variable	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459 0.009244 -0.022157 0.229185	0.000793 0.008216 0.032172 SA Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273 0.008623 TUN Std. Error	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943 26.57735 t-Statistic	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0139 0.0001 Prob. *				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI) C Variable COINTE001	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459 0.009244 -0.022157 0.229185 Coefficient -0.414709	0.000793 0.008216 0.032172 Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273 0.008623 TUN Std. Error 0.010504	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943 26.57735 t-Statistic -39.48222	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0139 0.0001 Prob. * 0.0000				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI) C Variable COINTEQ01 D(Y(-1))	-0.028025 0.084737 0.588979 Coefficient -0.198285 0.007680 -0.012459 0.009244 -0.022157 0.229185 Coefficient -0.414709 0.028268	0.000793 0.008216 0.032172 Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273 0.008623 TUN Std. Error 0.010504 0.012511	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943 26.57735 t-Statistic -39.48222 2.259492	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0139 0.0001 Prob. * 0.0000 0.1090				
D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP) D(MRK) D(CPI) C Variable COINTEQ01 D(Y(-1)) D(OILP)	-0.028025 0.084737 0.588979 	0.000793 0.008216 0.032172 _SA Std. Error 0.004826 0.012132 3.31E-05 0.001153 0.004273 0.008623 TUN Std. Error 0.010504 0.012511 1.82E-05	10.31334 18.30743 t-Statistic -41.08816 0.633056 -375.8754 8.018226 -5.184943 26.57735 t-Statistic -39.48222 2.259492 4.305612	0.0019 0.0004 Prob. * 0.0000 0.5717 0.0000 0.0040 0.0139 0.0001 Prob. * 0.0000 0.1090 0.0231				

Appendix 1: Cross section short run coeffecients -ALG

How Do The Oil Prices Affect The Macroeconomic Fundamentals, Monetary Policy and Stock Market? ....

D(CPI) C	-0.028152 0.461418	0.003657 0.016306	-7.698253 28.29816	0.0046 0.0001
	_	TUR		
Variable	Coefficient	Std. Error	t-Statistic	Prob. *
COINTEQ01	-0.340369	0.007370	-46.18589	0.0000
D(Y(-1))	0.192448	0.011739	16.39354	0.0005
D(OILP)	0.001443	8.72E-05	16.54319	0.0005
D(MRK)	0.064265	0.296330	0.216869	0.8422
D(CPI)	-0.000722	0.000215	-3.360302	0.0437
С	0.507719	0.030644	16.56811	0.0005

Appendix 2: The impulse response





Ahmed Smahi. "How Do The Oil Prices Affect The Macroeconomic Fundamentals, Monetary Policy and Stock Market? : The Case of The MENA Countries." IOSR Journal of Economics and Finance (IOSR-JEF) 9.4 (2018): 31-39.